A & 0l & AF 2 E A A
20208 &= =0l&t LB H THR
SN HRD
M WE2Y
Sl XA 2el (Sl & &)
SN FH-SA(EN) - MBAY - BES 0l &k o4 il HDE2
TH < 2t 3,096,120 2,793,380 302,740
=2 59,212
= 3,036,908
HE23 574,221 458,718 115,503
2 59,212
[ia 515,009
XA 2tel 218,566 127,680 90,886
N=sSg2u 2 Itz 3| 101,802 71,193 30,609
201 Let24d] 76,463 59,339 17,124
01 At 2t2l ] 15,357 18, 151 A2,794
OXNEA 2R Sl 8,000& x5 x50 2,000
OXNZHNIXAM & M= 4,680
—NEANDIXNAN RA(FEI,=AZ)
66,0003 602 A 3,960
—NENDXA HESE 22 90,0003 «88r A 720
OXEAN DN&EZElH 425 72¢ 3,949
—A0g 224 550,000 =14 550
—SCUHEE 550,000 * 14 550
— N0 E A 330,000 »2JH4 660
— &4 253,000& *3H 759
—a 3 1,430,000& =14 1,430
OX&A X ¢ 70,0003 x10& 25 1,400
O&F=)| ez 55,000& 10 =122 660
ONSZ=23 &0ts St A 2,668
—dAMNRE 23 7Y 100,000& »23 ¥ 2,300
— = gl 8,000& 23 #24 368
02 =224l 61,106 41,188 19,918
OXNYgHM DXM SEE 60, 146
— Lot s 3003 *9,57524 128 34,470
—sgs 2,130 «92024 <123 23,516
—gE= 1,800& 1004 122 2,160
OXZA JtatAX OIM ===
80& x1,0002 128 960
202 (44l 5,100 5,900 A 800
01 S LHOIYI 5,100 5,900 A 800
OX&A AXZE & X = el 5,100,000& 5,100
203 YR =&l 1,500 1,500 0
03 AIMF=XH 2 =AY 1,500 1,500 0
OXNEAMN EIIUHE=+ 88 =& 1,500,000& 1,500
306 =92 1,739 1,854 A 115
01 &3 1,739 1,854 A115




2M: R

M HEed

&2 YA 2el (=& J)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
OXNLNATHA £=H 3 1,739,000& 1,739
405 TtHabF S| 17,000 2,600 14,400
01 AL EFSHSHI 17,000 2,600 14,400
OXNZAM HEFA HIEAI 2L
17,000, 0002 = 1CH 17,000
NEAXNE HEME2S 5,395 7,865 N2,470
101 @124 dl 5,395 7,865 N2,470
04 12t Z2XREES 5,395 7,865 AN2,470
OHIAZH FH 2 5,395
—-Jlas 68,7203 x1H 60 4,124
- =54 68,7203 x 1«12 825
—BE= 4,947 ,8403 9% 446
N MELMANARZA 111,369 48,622 62,747
201 £B-2dH| 14,228 13,028 1,200
02 3323l 14,228 13,028 1,200
OGHZ (JIAHIAIAH) RAE2
481,666& 123 5,780
Ollg ey sgll Rl
56,100,000 *8% 4,488
OXNYNMELAFIOIOIXZIAAE S E
330,000& 122 3,960
308 XX EHH SOl A 97,141 35,594 61,547
1037/ 2S0HUHeSE A ALS I 97,141 35,594 61,547
OEZNLNMEBANAE SXZH (2 250HY
ol et) 1,096,900& 128 13,163
OSENLMAIAE S48 (2 250t 0]t
) 1,742,600& 128 20,912
OWMMIE ¥ MEHE Se2lAAE (225
ot 0| gt) 46,4003 x12& 557
OXMITH XYNMEZAIA 2= 2CH (I 250t
g 0/ 5,209,080& x12& 62,509
JHE =0 T A 131,872 129,601 2,271
= 59,212
s 72,660
HE=EIA Y FESH T A 72,660 75,389 AN2,729
101 14l 29,664 28,834 830
4 D12t ZE2EXNEES 29,664 28,834 830
OthﬂIEH |._1| }\|. g2 X O‘_I_‘?_ | 29,664
e = 68,7203 x6H x552 22,678
— =54 68,7202 x6H 11! 4,536
—E8= 27,213,000 x9% 2,450
201 LBH2E | 39,996 41,355 A 1,359




SM: HPD
B R
SOl N FEIIAFA (B9 ®R)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
01 At 22l 34,198 36,330 N2,132
OMAM(=e42) OXM H=
66,0003 20 A 1,320
OEUH ¥ EE3tECX WA 250,000 *3H4 750
OFHEL XM 32,128
—HgFe AES SO M
9,350& *400& *50% 1,870
—WEFES ABEA A
190& *9,800& x50% 931
—FEAE A AE S4B
5,820& %9,800= *50% 28,518
—AHELOILE I ABE4E
23,1003 x70= *50% 809
02 =224l 5,798 5,025 773
OM&M(=HZ) DXMH SER2 5,798
—goteH 300& 14,000 4,200
-3« 2,130& x750A 1,598
202 oddl 3,000 5,200 A2,200
01 = LH o4 1l 3,000 5,200 A 2,200
OMEFEIN HaS2 X0l
3,000,000& 3,000
HE FEI A B AIALY 59,212 54,212 5,000
= 59,212
101 @144 dl 17,814 15,810 2,004
= 17,814
04 JIZtHZ2XREES 17,814 15,810 2,004
OMNgEIA BEx o2 17,814
—Jlzs 68,7203 x2H x05 13,057
= 13,057
- &5 68,720 x2H 202! 2,749
= 2,749
— 28z 15,806,000& *12.7% 2,008
= 2,008
201 £B-2dH| 37,398 35,902 1,496
= 37,398
01 At 22l 37,398 35,902 1,496
OFEHEL AR 2,801
—jgxe AES SO ME
9,350 *400 & *50% 1,870
= 1,870
—oheEe M™EM M
190& 9,800 x50% 931
= 931
OFSMY IA AE +48
5,820& %9,800% *50% 28,518
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SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
= 28,518
O2zHzE & 0/ HE HBE+==2
23,1003 x70= *50% 809
= 809
OMNE=EIIA ZAL AIRES  271,000& 102 2,710
= 2,710
OEZ A 8,000& »4H +80 2,560
= 2,560
202 O4dl 4,000 2,500 1,500
= 4,000
01 =2 LHAYI 4,000 2,500 1,500
OMNE =LA T AL & X Z A 4,000,000& 4,000
= 4,000
2 HgegR2d 121,644 95,438 26,206
XA & 26,280 27,480 A1,200
201 LBH2EH| 16,280 17,480 A1,200
01 At 2t 2l 12,800 13,280 A 480
OZglE AR5 7Y 275,000 42 J| 1,100
O&F+=ge 28 =235 ¢ 150,000& = 12& 1,800
OJDXAM HZ 3,300
— KA HMZ(SS)2XAH 66,0002 508 A 3,300
O= &l 8,000 x3Y x100 2,400
ON=SUHE ?&t NRSFH AZs
200,000& 21 4,200
02 2324l 3,480 4,200 AT20
OMEXE BHSEHIINHLI| SHR=S
70,0003 x2CHx12& 1,680
O30UE == (MZX™Hl)
150,000 624 x23] 1,800
202 odl 5,600 5,600 0
01 = LH o4 1l 5,600 5,600 0
OMg=s &x2s 5,600,000 5,600
303 ZA2 4,400 4,400 0
01 Ttz 4,400 4,400 0
OAYNLN B4 24 ST 4,400
— I 1,000,000& »22]| x 122 A 2,000
-% = 700,000& *23| * 12 A 1,400
- o 500,000& »23| 12 A 1,000
N2 E A 2,500 2,500 0
303 Z& 3 2,500 2,500 0
01 243 2,500 2,500 0
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A WE=24
Sel MY HEYeed (ol @)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Og2= .24 Aag= =43
50,000, 000% *5/100 2,500
AAEGE Mg =H 92,864 65,458 27,406
101 @14 Hl 22,472 19,296 3,176
04 JIZHHZ2XNHEE S 22,472 19,296 3,176
OMZZa & Bx FHl ¢ 22,472
—Jl=s 68,720 250 17,180
-5 68,7203 x50 3,436
—-28s 20,616,000 x9% 1,856
201 Let24E] 9,718 9,636 82
01 At 22l 8,530 8,910 A 380
OZgE ARE 2 275,000& *2H 550
oNggead 235 2 200,000& »12& 2,400
ODXM M= 1,980
—Nel=2 1AM 66,0002 30 A 1,980
O= &l 8,000& 2100 1,600
ORIIILXIA &l d =3  500,000& *43] 2,000
02 =224l 1,188 726 462
Oodz3te 2 Us0IX =2
100& *1,00024 63| 600
oy &s s€=a 300& 704 63 126
OM2=g tEEZI] 2eldl 38,5008 128 462
202 oddl 4,000 3,000 1,000
01 = LH o4 1l 4,000 3,000 1,000
ONSA+e Mg Y WS
4,000,000& 4,000
308 XX EHHSOIA 56,674 30,926 25,748
10 S 2S0tHetd & A 2l 56,674 30,926 25,748
OHMe+=2FEANA 2 el bl
17,019,000& 17,019
OXLMTH Al 2= AH A=
39,655,000 39,655
e A X=2el 69,234 90,234 A 21,000
A, Y, 23 HS & & Hel 69,234 90,234 A 21,000
201 Let24d] 60,054 77,554 A 17,500
01 At 22l 33,814 51,314 A 17,500
OEH ¥ A2F LA 400,000 x12& 4,800
OMNY . NEZ4AN, HEHME £ 25T UM
80,000& 1208 9,600
O=Zgol 2I+2 22N HH
5,500& *500% 2,750
OXNssed M EX & 1,610 »4000H 644
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X ZH - IHX—IO@
(=2 I ocT o
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1

Sl =AR) ANMERY (S &2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
— Iyl 1,366,500 «4H «201 & 10,932
— 29 ¥ wSH| 172,500& *4 3] 690
— 2 gtateldl 11,622,000& *5% 582
- 0l& 12,203, 100& *7% 855
— 2IILXIAM 13,056,000& *10% 1,306
202 o4dl 1,400 1,400 0
01 = LH o4 1l 1,400 1,400 0
O=A2D| Tté&h HZ &AM 1,400,000 1,400
NYASH 2el 17,140 0 17,140
ANLYLASH R=2 17,140 0 17,140
101 @14 dl 3,747 0 3,747
04 JI2ZtHZ22HEE =+ 3,747 0 3,747
OJdles 68,7203 x 1 40 2,749
OFs=¢ 68,7203 x1H «102! 688
OEE& 3,436,000 *9% 310
201 Let24d] 12,093 0 12,093
02 2324l 12,093 0 12,093
OXNEASAH BEHSHUIN & EE2 €3
380& *1,000& 123 4,560
ON3 UWE®IZa &Yl Xz 2,000,000& 2,000
O=3ME d&8Y &Il 3,858,000 3,858
OSHFHEAN RFUIALY AR Sl
1,675,000& 18 1,675
405 TtobF S| 1,300 0 1,300
01 AL EFH S 1,300 0 1,300
O=M& ds8Y 8458 ZIRH
1,300, 0002 = 1CH 1,300
TH &k 2k 2,294,599 2,109,762 184,837
SEMHA HA2E 2,294,599 2,109,762 184,837
SHMA 22 312,574 290,669 21,905
201 Zet24] 304,054 286,479 17,575
01 At 2t 2l 4,480 4,760 A 280
OS2 Me MEHZAL S&Hl 8,000 «7H+80 4,480
02 2324l 299,574 281,719 17,855
OZZ3AN&E SHsatl 265,343
—dIIsSE= 253,342,320& x 13| 253,343
—MNASEE 3,000,000& x43| 12,000
O Mat 2te| 6,288
—=ZyLaE 3220002 x421 1,288
— 2 3EINx= 500,000& »10AH 5,000
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A THarete

Sl BRI FASY (ol @)
SA-HB .Y (BH) - MBPAY - B2 o A o SSa H RS2
O<® gs= 666
— HRH 3003 *4000H *23] 240
—SIH 2,130& x 10000 *23] 426
OZZ2AIEE ALY SXHI(10042) 27,277
—1981~1990E & A== (201 A)
73,264,300& *5% 3,664
—1991~2000E@ & A== (3 A)
455,236,5143 3% 13,658
—2001~& M A=2 (500 2)
995,442,000 * 1% 9,955
406 JIEFAF=2 0l A 8,520 4,190 4,330
01 JIEFAHE20| & 8,520 4,190 4,330
OEdd dXsEZ 340,000& x5 1,700
OaEH BASES 310,000& »22H 6,820
HAL22 29 1,441,898 1,075,835 366,063
201 LEt2 Y| 468,593 407,695 60,898
01 AFR2t2l bl 89,793 58,775 31,018
OF M2 2GHI S 8,800
— dg=x HA 20,000& x200& 4,000
- H===x HA 450, 0003 *2H A~ *23] 1,800
— EAN HEAS 600, 000& *53| 3,000
OFAMEL2Z SE€FEA L HAESEE Y 80,993
— IS EA U SAANY
4,370&%4,331.8m x13] 18,930

3,100, 0008 *23] 6,200
~XHEH L NEFEXE 2HL
2,500,000 +23] 5,000
—4zZppe Y 2AHHL
1,000,000 *23] 2,000
—HA HASERY U Iy
3,489, 7502 * 122 41,877
— HA SEA UG 2l 582,120« 122 6,986
02 222l 378,800 348,920 29,880
OZME2 2Y 3L 304,000
—HAN 2% BTRS 24,000,002 <128 288,000
~XHE 29 TR 1,200,000 128 14,400
— BA ®IIEIIZA 1,600,000% *13] 1,600
Oordael L wateel e 30,600
— A ®J| OB 1,200,000 128 14,400
— A gsiel O 450,000 * 122 5,400
— XEE I GHBRNE 450,000 x122 5,400
— XE waRel 450,000 * 122 5,400
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Sl BRI FASY CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ORFID EZ2elAIAE R
1,600,000& 42 | 6,400
O&ZJl RANE= & 200,000 «2)H A +12& 4,800
OSSEAN 2=2(38) FIIEZ
1,650,000 * 1004 2 23 33,000
307 21201 A 299,074 246,808 52,266
05 RIZt2IE = 299,074 246,808 52,266
O=2& A= 4294l 3,560,401&«7H 128 299,074
401 AIEHI L 2CHEI 674,231 421,332 252,899
01 A& Bl 662,540 418,320 244,220
OzZd & X2 AXBAM 23,000
—2XdEdy 23,000,000 =104 2 23,000
OFA SBAES #21 L X2 (15MH2) 197,967
—1971~1980E & A2 (1)
311,920,449 x7% 21,835
—1981~1990E & A2 (3M2)
1,309,733,873& *5% 65,487
—1991~2000E & A2 (3M )
711,186, 1022 *3% 21,336
— 2000~ HA=2(8M )
8,930,835,581& x1% 89,309
O=2F AL =&BH H&I| WHIAM
49,426 ,500& = 20H 98,853
O=F A 28 LI WHIAM
5,364,223& 1304 69,735
O=F At HLtotdalgtal HEE I Wi S A
3,527,000 = 1CH 3,527
O=FA 8242+ MO=Z22% £ 24 uAH
S A 25,000
—PLCEZO™ M= ¥ WHSA
18,000, 000& *1set 18,000
—HY2H WM ISA 7,000,000& *1set 7,000
O2& AL 15& 1D BHAEE FHISA
6,000,000& »2&t 12,000
OZFA 2534 A2 E=3 A
254,210& x76m 19,320
O=2&FA 38 HIEY WS A 127,013& 144 18,290
O2& A & =48 S At 2,500,000 «4 4 & 10,000
OXEH JIHA HEZA 29,965
—EZ SN XA
4,991,250 *4set 19,965
—JIAA EIANE EXSA
5,000,000& *2set 10,000
ORSH HHE=SXTHH EBAANE HESA 34,000
—U=32LY S SA
74,4043 x201.6m’ 15,000
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Sl BRI FASY (ol @)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
— &35 uHd ¥ 2ASAM 593,750& »32m 19,000
OFfRSY dIF=NEH sZI EX2A £HE
& 150,000, 0002 4 .85% 7,275
OMEM BFSNME USHTY BISIHLD
A 74,4042 »336 M 25,000
OX4H dFSANME BHAAE LS A 57,608
— S WHS A 691,037 & »27m 18,658
— 35 a4 HIEIHL S AL
74,4043 %190. 17 m’ 14,150
—HEA &2 240 XSA
800,000& *9CH 7,200
~xN2SsY X ZHTA
2,200,000& *8set 17,600
OctdH HE=SXHH 3HEA NS A
722,222@ x18m’ 13,000
OAtal&tHl Sehalat aots=Z Bi2OHd S A
360,000 *50m 18,000
02 2feldl 6,920 0 6,920
OZFAL =B HI| WM B A
98,853,000 *7% 6,920
03 A& =2 THHI 4,771 3,012 1,759
OFEA S3ANEE BE=3A & K2l
662,540,000& *0.72% 4,771
g s352el 22 540,127 579,415 A 39,288
201 L2l 443,069 432,915 10,154
01 At 22l 24,648 15,012 9,636
OZgld 228 7Y 400,000& *43] 1,600
OMRES ¢ 400,000& x63] 2,400
ORFID S322ALE 28 2288 7¢
856,000 =6 Ml E 5,136
OstolmAste sd 65,000 x14CH =123 10,920
O2dd M=U3 4,592
—dAEE 257 148,000& »28H 4,144
— = gl 8,000 x28H »24] 448
02 =224l 418,421 417,903 518
O38xg sXA&eltl 393,921
—S8X4E 28 & A= 1,200,000 «50CH 60,000
—SEXY S#FMLERES 1,500,000 23 3,000
-3 2FU(BR)
1,354.05& %2404 =123 =464 179,385
-3 2RU(ALR)
1,496.68& 250 =128 »4H 17,961
— gl RRU(ER)
1,354.05& %220 =12 +10H 3,575
— 38X =l 1,300,000& »50CH 65,000
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Sl BRI FASY CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
-3 22FH| 1,300,000& »50CH 65,000
O=8& Z238J ==8 1,000, 000& *23| 2,000
Ost=Xret2el S A 2HIEOIE ==+12
1,000, 000& *23| 2,000
Od. eI |X2eltl 20,500
— 32 e (2E+23) 3,500,000& »23| 7,000
—g 2el(2F+23) 300,000 =45CH 13,500
202 o4dl 12,500 7,500 5,000
01 = LH o4 4l 12,500 7,500 5,000
OMat S X&el & HAL |2l
7,500,000& 7,500
OXtEHi Xt & KX 22l 5,000,000& 5,000
405 Xt&tE SHI 84,558 139,000 AB4 442
01 AL EFH S 84,558 139,000 AB4 442
OkL= AMRE I3 ¥ J1J1 #¢ 57,000
— B, HE, A%, TEHE S
1,140,000 50X 57,000
Odz&En 72¢ 500,000 = 1CH 500
ORFID E32elAAE elddl 2
3,960,000 »3CH 11,880
ORs4Y ARE IJt2 ¢ 15,178
= 580,000 *2H 1,160
— & X)) 428,000& =14 428
— & XH(K) 360, 0002 *2H 720
— a0 1,170,000 =114 12,870
SLEEAMY 200,000 200,000 0
S LDEI MY 200,000 200,000 0
SLEEAMY 200,000 200,000 0
306 £ 3 200,000 200,000 0
01 &3 200,000 200,000 0
ORFZNSLHIS NS ZeZ5
200,000, 000& 200,000
HY2FZH (MR 27,300 24,900 2,400
JlE &l 27,300 24,900 2,400
2AH Jl=3H| 27,300 24,900 2,400
201 £er29 10,500 9,660 840
01 At 2t 10,500 9,660 840
oJlay 35,000 x25H «12& 10,500
202 044l 12,000 11,040 960
01 = LH o4 1l 12,000 11,040 960
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